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You are the office director of an automobile spare parts factory. A customer is

visiting the factory and you are in charge of introducing two aspects of the factory

given below:

(1) = e X KHER (2) =) ) = 838 30

Wk, RBEXEMENB—-TRMNS O, KRMOT ooonee (X 2 n
Jd] ), eeeees (Z&22) LPHAAR - JRTTRPR (BRLTA$),
T, A FRRI A —A, XARMNG SN ST, Fiheennn

fouE)

)

: AT IER K E 4530 T MK A0 &
vo, RAETRKREEFHSBELE.

4'7\#'%7%15235"27?
AT, XPFRZ3 A LEH
0, A AL 6 ARl L

B W6 R RAT

IR RARRBAMRALN B ikt e, SRR, REE P hi F 5
RMGBAA T EHEH20%, HELDE =15

P AT AR T 6= 5% d o

FR:A—HS TR0 2450 A $BAREHE R A E
TR A% T35,

P AR FEETAZ S V0

' B peijian (4) pan, fittings (of a machine)
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&%\ﬁﬂ"‘#\lew words

1. ¥ o yangpin
2. fFF £ zhonglei
3. L shang shi
4. %3t sheéji

5. # xinying

6. A& 3 yanfabu
7. 5&FRE  yuzhong buténg
zhanyould

8. LA F

9. FF & kaifa

10. 4512 37

11. 3 3% shouhuo
12, 3714¢ ding hud

iw" =—8 Let's answer

PN — A, B R S 1 2 1 2% i) A

xiaoshou'é

(#)
(#)

(3h)
(&)
(%)

(%)
(3h)
(#)
(%)

sample

kind, type

to appear on the market
to design

original, novel

research and development dept.
out of the ordinary
(market) share

to develop

sales volume

gains

to order goods

Work in pairs. Ask and answer the following questions according to the text.

| A AN A i B 4 355 9

2. ZEESEH L& LT ey

3. 5P EMXEFDE M

4. X x5 X AR ILiE it 692
S.RMI; e EawhEHEL SV
6. Hedi1Hg = 5%tk o BB B R Ao K 2
7. 46 F45 8 WA % o

v IR—IR Fill in the blanks

BT &£ 02 HA KA T (

VE X 28R



ALH3 AA 6 ARI( )6, AT T Y S (

i L ( VAR AT # , - F RN E A T3 (

( V= x, RN BHMNE =y ko WAEEE
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%ﬁ—!ﬂ Let's practise

i o e o T g g g
— Mo rf’(,: market 1are

—4

L (RN ER)REFPRE, FFRMNGBATHEAHRHA 20%, L4

[

2. B8NS A TR, X5 THEARHE 3%, EF—15,

Yo% 2] — Exercise 1 ¥
wi W] 1 Y ¥l %€ . Describe the pie chart given below.

2003 EE N F-HL 3 5 AT %

)4 20%,

[ REELR

45% B @™ T
55%

2007 AR FHLli g L A %

21% =1t WAL W 33%
P

D f
‘ . 13%LG 70,  Sweltfl
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LA )2 8420 K $AFAhT REXRMELFLILE T,
28 MO AR o B A $EB PAAAKEFSARPWE,
3ARNGNHEHERMARN Mo B RAEER kA HEF LESE
Ye%:2] . Exercise 2 Y¥
1. B b ifi i %) 1,
Read the sentences above.
2. M T A B AR N — 2H O S 4
Practice in pairs according to the hints below.
RS WAVE @A K O W R 1
SRR

=, HER B ALE Sales figures, turnover

LARMNGFHEREHREES Vo
2. RN EFFOFREGELHA S Vo
3. AT RSO B 6200 7 L, A4 H — F 694K 8 32 2000 F A
Yo% 2] — Exercise 3 ¥
. ARk A P13 i) — T [ o A A2 0 45 5 8 09 9%l
Ask your partner about his/her company s turnover in a certain period. Use the
cues in the table below.

RHRBHRLF 2008 4F 5 #5187

- FE Bk
. R x| 50% .
. R=FR 1007 &

e 857

FOER 0% &
& it 3057 1




